Quiz #1E
Please complete the following exam. Read all instructions carefully and answer each question asked.
Calculations and notation are important but so are explanations and dialogue.

1. For the safety and health reasons, Japan Airliner Company is considering moving all flights to
nonsmoking flights. However, the Board of Directors is going to take a vote and most of them are
smokers. The Board of Directors consists of 40% nonsmokers and 60% of smokers. 70% of the
nonsmokers and 30% of the smokers favor the nonsmoking policy (i.e., given a nonsmoker there is a
70% chance that they favor the nonsmoking policy and given a smoker there is a 30% chance that they

favor the nonsmoking policy).

a. Finish the probability tree that has been started
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b. Construct a probability tabld for this problem.

g\ [R%, wz% 7o

0
c. What is the percentaétk;z %5 in favor of the policy?

P<M = 670 fron ol

d. Determine the probablhty of a nonsmoker voting in favor of the nonsngmgLohcv (ie.,

p(nonsmoker AND in favor of nonsmoking policy)). ] /
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e. Determine the probability given that a Board of Director member oppgses
policy that that Board of Director member is a nonsmoker.
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2. Jane knows that there is an 80% chance she will be in class with her best friend and a 20% chance that she
will not be in class with her best friend. Given that she is in class with her best friend there is a 95%
chance she will only get a C in the course. Likewise, given she is in class with her best friend there is a
5% chance she will get an A or B in the course. On the other hand, given she is not in class with her best
friend there is a 90% chance that she will receive an A or B in the course. Likewise, given she is not in
class with her best friend, there is a 10% chance she will receive a C in the course.

a. From this data finish the probability tree
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b.  Construct a probability table M‘%"‘I s>
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c. From your probability table, eterQue%e follong prLbabllmes

1) The probability of being in class with her best friend given that she received an A or B?
2) What percentage of the time does Jane receive an A or B?
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question asked.

3. Given the following cost-volume break-even graph discuss the following:

Cost Volume Break-Even Plant |1 and Plant 11
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’s boss wants to know which plant to buy from if they plan on using around 225 units on
avgfage. What plant would you recommend to Jimmy and his boss? Explain why you chose
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b. Jimmy’s boss now informs him the number of units they plan on using has changed and it
could be as high as 475 or as low as 325. What plant should Jimmy suggest the company buy

from? EAx?lain why you chose your agsweé A{ g - O%% 3%, ‘(_’,ag:?g«
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c. an(n%y lieves his boss numbers of units they will use, 325 to 475, but he knows his boss
always under-compensates and the boss’ estimates of the low number is usually not enough
(i.e., 325 is more like 400). What do you recommend to Jimmy now? Explai? why you chose
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